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* Please check that this question paper contains 27 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 23 questions.

e Please write down the Serial Number of the question before
attempting it. :

e 15 minute time has been allotted to read this question paper. The question .
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :

(i)  This question paper contains two parts - A and B.

(ii)  Part A is compulsory for all.

(iii) Part B }.103 two options - Analysis of Financial Statements and
Comp uterised Accounting.

(iv) Attempt only one option of Part B.
(v)  All parts of @ question should be attempted at one place.

@vuE <h
(TTereT wul qur wrafaal & e aie)
| PART A
(Accounting for Partnership Firms and Companies)

1. i, g o A o % adier & | 1 S, 2018 1 Hiq ¥ S TR
fiFan | Hiq & FTHW TR HW W FH hH TN B GeATHA T 4,20,000
T | _
g ¥ SEFR UEW HH W TG & @I % fIQ HATEwTh s S
- SIS | 1

Neetu, Meetu and Teetu were partners in a firm. On fst January, 2018,
Meetu retired. On Meetu’s retirement the goodwill of the firm was valued

at T 4,20,000.

Pass necessary journal entry for the treatment of goodwill on Meetu’s
retirement.

9.  itha qur o1 U HH % AEER A 991 3: 1 F IE H AW Sied o |
S Lo 3 e R e | S
El -2- wr 3rfq @ wH - foRaT |
A A M1 § fepan W 9TE feRa 2 1
- Amit and Beena were partners in a firm sharing profits and losses in the
ratio of 3 : 1. Chaman was admitted as a new partner for 1th éhare in

the profits. Chaman acquired 2 th of his share from Amit.
How much share did Chaman acquire from Beena ?

67/2° 2

10
YEARS CBSE BUARD X” 10YearsQuestionPaper.com

QUESTION PAPER.COM



3. ' T > <
‘ W‘“&H‘Eﬁ’,‘amﬁaﬁﬁﬁ’ma“w‘%ﬁ‘iﬁﬁ’wm%v
Is ‘Reserve Capital’ ¢ ) d
pital’ a part of ‘Unsubsecrib 2. L Uncalle
Capital’ ? scribed Capital’ or

4. i s o e P s !

Give the meaning of ‘Debentures issued as Collateral Security’.

5.  uitwrafl qur qmaredl % UM % MUK W Gty % fRrgesy qun @roEd
w1 & faged’ # sl AT | 1
Distinguish between Dissolution of partnership’ and ‘Dissolution of
partnership firm’ on the basis of settlement of assets and liabilities-

6. T qon Ry w=9= & I & | KW v qumsiern € wafs ity T adeR
R | 3B SO R HT IWEH Fh T 2 B § uh waq @ | @ N
I¥ET IR I T 3 HUs A 99 3tk el Bt s ey |t fom | =&
3 W i saEE R § 2 9T I wwe o G | 1
Ritesh and Hitesh are childhood friends. Ritesh is a consultant whereas
Hitesh is an architect. They contributed equal amounts and purchased a
building for ¥ 2 crores. After a year, they sold it for ¥ 3 crores and
shared the'proﬁt-s equally. Are they doing the business in partnership ?

Give reason in support of your answer.

7. ‘oier &1 @1 o7 B ? ‘q@ifusil i 9 wwHar I A HI3 Q AR i | 3
What is meant by a ‘Share’ ? Give any two differences between
‘Preference Shares’ and ‘Equity Shares’.

8 =) it aul oA U wH F @Sl & q¢1 5:2: 3% IIIE T w-wify
Sy 4 | IR I g & T qA1 S T ST A A ST W@
oty fopar | ST AfYAY U@ 2:3 AT 1
= 91 ST % T A GRS ST Y TOMT HIT | 2
Jayant, Kartik and Leena were partners in a firm sharing profitg and
Josses in the ratio of 5 : 2 : 3. Kartik died and Jayant ?nd Leena decided

to continue the business. Their gaining ratio was 2 : 3:

Calculate the new profit sharing ratio of Jayant and Leena.
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: —

ERRECEEREL R
fafer faam : > -
2018 feipsesesssraseesnrensiesansssrsTRare AM - | | sssesasess

BEER 0L | oooeeeessreesssmaneeenee L e
(T % 500, T 100 I b 9%
AT & A T 97 TAH T
I © A 7q foben 1) B
BUAH D1 [ weovnseanissusnessasnsnsaronsussisissss - - S B [N
(V98 % orgal & € fohdn )
.................................................. aH
A e )
Complete the following journal entries left blank in the books of VK Litd. :
VK Ltd. '
Journal
Debit Credit
Date Particulars L.F. | Amount | Amount
T %
1)1 2 S - Dr | | .
February 01 |  cossvemsssmmmonssnsnsness [ ] e
(Purchased own 500, 9%
debentures of T 100 each at
F 97 each for immediate
cancellation)
February 01 | .........corseueeneaesssncenncs Br s
(Cancelled own debentures)
........................................ Dr
I A —— )
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10. P T fafmin s w3, fRifRs T 1,00,00,000 ﬁwﬁwﬁsﬁaﬁmg
%%ﬁ?loom%ﬁmmﬁﬁﬁﬂﬁﬁ%lmﬁwamw
‘T{Gﬁ?m,oo,ooo% |Wﬁm%mﬁéﬁ%&mwﬁ
T R wfrem 33 % Rorg TR e e fa f | 98 T
AR fofir fafmtor gwredt # o STEUE ¥ a4 3 w5 A ST
T HY AT w1 7 R

wmﬁ@mwﬁaﬁww%mmﬁm.ﬁﬁ‘m

53 20,000 3t F1 v Rt | T 3 O w9 Y s e o e @ TE |
mﬂﬁlﬁw,zomﬁWm%muﬁ%mm%@ﬁW

T ofw $oft 9 weftia ifvr |
Q@%ﬁawﬁwﬁﬁmﬁmmmmm%n 3

NK Ltd., a truck manufacturing company, is registered with an
authorised capital of ¥ 1,00,00,000 divided into equity shares of ¥ 100

each. The subscribed and paid up capital of the compaﬁy is ¥ 50,00,000.

The company decided to open technical schools in the Jhalawar district of
Rajasthan to train the specially abled children of the area. It is planning
to provide them employment in its various production units and

industries in the neighbourhood area.

To meet the capital expenditure requirements of the project, the company

offered 20,000 shares to the public for subscription. The shares were fully

subscribed and paid.

Present the share capital in the Balance Sheet of the company as per the

provisions of Schedule III of the Companies Act, 2013.

Also identify any two values that the company wants to communjeate

5
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# - afey ¢
11. mﬂmwwﬁﬁm%mgz‘z?:jzmmﬁmlg
ﬁﬁuﬁaﬁw@m%wﬁmﬁ%mﬁzaﬁ il e
st 4l F F@ F = 6,00,000 qE AT a:;q‘q’ﬁ”a%aﬂ%mm

e w1 AT e =w ant & iEd

e 1 |

@@%ﬁaﬁwaﬁwwﬁﬂwﬁm :
¥ i (T)
2013 — 14 3,50,000
2014 — 15 4,75,000
2015 — 16 6,70,000
2016 —17 | 7,45,000

e Iy
@) @Tﬁn@nﬂ%ﬁ? 56,250933@“%%3%”@!‘3
gfEtaa foran s 8 |

6 T 15,000 A 3t
i) 3194, 2017@@%@3&@3:{%14% _

4
gfafsear KT | . ;
Asha and Aditi are partners in a firm sharing profits and losses in the

1in ;
ratio of 3 : 2. They admit Raghav as a partner for 1 share in the profits

of the firm. Raghav brings ¥ 6,00,000 as his capital and his share of"
goodwill in cash. Goodwill of the firm is to be valued at two years
purchase of average profits of the last four years.

The profits of the firm during the last four years are given below:

Year Profit (3)
2013 - 14 3,50,000
2014 - 15 4,75,000
2015 - 16 6,70,000
2016 — 17 7,45,000

The following additional information is given ;

6)) To cover management cost an annua] charge of ¥ 56,250 should be
made for the purpose of valuation of goodwill.

(i)  The closing stock for the year . qvervalued by
Z 15,000. ended 31.3.2017 was ove

Pass necessary journal entries on ) us ing the
working notes clearly. Raghav’s admission showing
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A2, W,Wmﬁmmﬁ@@%mﬁmmsﬁ%mﬁmﬂﬁ
Sted § | 31w, 2014 ® PR Y stawm wR R | 5w ey # T
Ut qon w1 ot @ oTEvEh TwReE A gd g @ 2,00,000,
T 1,00,000 7o 7 50,000 o | FRUT ¥ srwme wam w0y v g 1 S
T T 1,14,000 a1 T | SErRE % ghjeaie @ daaei # TG
H1 9RO = 6,000 H o™ A | BH H G § gy g=g z 30,000 H
o |

firut =t 2 ofyr sa% = @R § TG w A T8 | gEar a9,
firartt | = 75,000 wfy o 3§ o Rt o Rred wom 2 @t H FTHA

A AW W 10% ai¥s = affm 8, qa S it w1 e ST afed
R o w B wEnd qu | F R a9 S gEd 319 $Y w9 Bt @ |
FRHR ol ) we w9 @ guiy gu frad & o g daw Hfe S

T IHHT YT | : 4

Banwari, Girdhari and Murari are partners in a firm sharing profits and
losses in the ratio of 4 : 5 : 6. On 315t March, 2014, Girdhari retired. On

that date the capitals of Banwari, Girdhari and Murari before the
necessary adjustments stood at ¥ 2,00,000, ¥ 1,00,000 and T 50,000

respectively. On Girdhari’s retirement, goodwill of the firm was valued at
T 1,14,000. Revaluation of assets and re-assessment of liabilities resulted

in a profit of ¥ 6,000. General Reserve stood in the books of the firm at
Z 30,000.

The amount payable to Girdhari was transferred to his loan account.

Banwari and Murari agreed to pay Girdhari two yearly instalments of
Z 75,000 each including interest @ 10% p.a. on the outstanding balance

during the first two years and the balance including interest in the third

year. The firm closes its books on 315" March every year.

Prepare Girdhari’s loan account till it is finally paid showing the working

notes clearly.
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13. 13789, 20149 %%, ffivg ¥ = 1,000 T&F P 5,000, I.O%quiﬁﬁ 9%
%ﬁmﬁﬁam%mmmﬁamlﬁwmmmw
+ I H 10% % fiftem w e @ | 6,oooﬂ@a‘mmm§q
W“‘ﬁaﬁ?ﬁﬁmmmwﬁﬂmﬁmw | 3Ty
R e fafiEa afi e @ |

31.3.2016ﬁﬁmﬁwﬁwﬁmmﬁmmw
fofa e | 1.4.2016 #) St 3 oo AfafEE, 201.3%9'3“’:‘}%3‘39'?
AEAEF R 9% §% wraly s § AfERE fF | §% S ST W 109,
afis Y W A W W HT 92 74 |

T F Pl w3 Riu smavass St sttt HIR 1w %
it w w1ft 1 sfifen w0 @ woE w s % PTAE TR vt
8 ST B |

Orn 1% April, 2014, KK Ltd. invited applications for issuing 5,000 10%
debentures of ¥ 1,000 each at a discount of 6%. These debentures were
repayable at the end of 3™ year at a premium of 10%. Applications for

6,000 debentures were received and the debentures were allotted on
pro-rata basis to all the applicants.

Excess money received with
applications was refunded.

debentures. Ignore entrieg relating tq

debentures and interest paid on debentures
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% | 317, 9017 1 3T AT REwor s v § ot

1 mswﬂm@nwmﬁ%-mﬁm2:2;1%m3qm.ﬁa1u—ﬂﬁaﬁa

31.3.2017 ! 9UTE, A AT EW =1 fearfy fraor

<FaTd ufyn ufEfat ofan 2
TSR 3,00,000 | T wherff 4.,50,000
AW g9g 1,50,000 | ¥ih 1,50,000
goft LA 2,00,000

U 2,00,000 % 1,50,000

FE  2,00,000

@WH  1,00,000 5,00,000

9,50,000 9,50,000

12.6.2017 Ft HH I g B T | HHGH HAG H AJAR Jah WISER & 94
forsareent w1 fmT <3 o

G 8% qSf @rd & A |

) s 129% 9 T = |
Gii) AT 1 AAT | S Y W HH h ST e T 60,000 foam
. T |
vy g B R T % e ve wm, R T S fredt
¥ o™ F AUR W H Awh | 31.3.2017 B T T AW F @i w5y
AT T 5,00,000 T |
e 3 Pl F TR F 3 e Fwen o wr $aRC AT | -
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harin fit
Pranav, Karan and Rahim were partners in 2 firm S g profits ang
av, an 1 i, 2017 their Balance Sheet

losses in the ratio of 2 : 2 : 1. On 315" Marc
was as follows :

i on 31.3.2017
Balance Sheet of Pranav, Karan and Rahim as

- Amount

Liabilities Am;'iﬂﬁ dosets T
Creditors 3,00,000 | Fixed Assets 4,50,000
General Reserve | 1,50,000 Stock 1,50,000
Capitals Debtors 2,00,000

FEEREY 200000 Bank 1,50,000

Karan 2,00,000

Rahim 1,00,000 | 5,00,000

9,560,000 9,50,000

Karan died on 12.6.2017. According to the partnership deed, the legal.

representatives of the deceased partner were entitled to the following :

(1) Balance in his Capital Account.

(i1) Interest on Capital @ 12% p.a.

(iii)  Share of goodwill. Goodwill of the firm on Karan’s death was

valued at ¥ 60,000.
(iv)  Share in the profits of the firm till the date of hié death, calculated

on the basis of last year’s profit. The profit of the ﬁrm for the year
ended 31.3. 201‘7 was ¥ 5,00,000.

Prepare Karan’s Capital Account to be Presented tq his representatives
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16. ST e o il GG A T ey www a1 31 T

2017 ! 71 feufy e T YRR o
31.3.2017 ! T=aT AT T w1 Feufiy fremor
T — |

g . | it .
fafaw Ser 1,04,000 | 3% # e 30,000
ESUE e e 45,000
X 2,50,000 -G [ 75,000
QR 2,16,000 |4 g6 000 | e 1,10,000
oft a9 waA 3,10,000
5,70,000 5,70,000

1.4.20173%3%ﬁm%%m%%wmaﬁﬁmmﬁwqa;wm
T |

@) qﬁﬁmﬁﬁsﬁ%m Z 3,00,000 7T T1fd Hift’E™ & A9 9FT &
fa 7 50,000 T, fo@S MY FH ==L AAT O AE H A |

G) ¢ 5,000 % 7RI 1 W@ el fohaT T T |

Gii) e Y 109 A o e qu s fredi 9 3R WA O ey
ol % T 5% 1 WraUH fohan ST |

(iv) {ﬁlﬁmm%wﬁ 20% it Fgiadl it It |

goA T ST |

eaioet T T S 5 o e R 1 )
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Chander and Damini were partners in a firm sharing profits and losgeg
equally. On 315 March, 2017 their Balance Sheet was as follows :

Balance Sheet of Chander and Damini as on 31.3.2017

Liabilities Am;unt Assets ' Am;unt
Sundry Creditors 1,04,000 | Cash at Bank 30,000
Capitals ‘ Bills Receivable 45,000
Chander 2,50,000 Debtors 75,000
Damini ~ 2,16,000 |, ¢6 000 | Furniture 1,10,000
Land and Building 3,10,000
5,70,000 5,70,000

On 1.4.2017, they admitted Elina as a new partner for %rd share in the
profits on the following conditions :

(1) Elina will bring ¥ 3,00,000 as her capital and ¥ 50,000 as her
share of goodwill premium, half of which will be withdrawn by
Chander and Damini.

(1)  Debtors to the extent of ¥ 5,000 were unrecorded.

(iii) Furniture will be reduced by 10% and 5% provision for bad and
doubtful debts will be created on bills receivables and debtors.

(iv)  Value of 1and and building will be appreciated by 20%.

(v)  There being a claim against the firm for damages, a liability to the
extent of T 8,000 will be created for the same.

Prepare Revalyation Account and Partners’ Capital Accounts.
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16. T, fofies 3 « 10@%50,000%@%%?%%‘137%
SR 6T, | fer o1 syt et ST & e o

3:"%'(’31:[{ : T 29fd aw
3413"&:[11‘{ . T 29fd 3w
T A : T 3%fd 3w

& qu sfFm g W AW MW

70,000 39 ¥ fiyu amaed W B¢ | 10,000 ¥ % fyq amded 1 © B
&1 T qo smde wRr I WA T
ﬁwmﬁaﬁwﬁ%@wmmﬁmmmﬁmwwm%
Y W onfuew ufyr @, AR B R, e qun e w 2@ U A
FEATIRA = fear ma |

Tiarer, RS 600 37w ¥ Rie smden e on, 3 ot wwe afw af¥ H1 JTAE
FAE F Ty o e | Ay, R 6,000 T F fig smaed fear @, AW
TP 1 PTam 0§ 0% @ a9 I0h AW H1 ged g0 X foram @ | &0
T T 37 379 H T 20,000 F Foam B T 4 9 37w ygw [ i = e
T | SO AT TR e gl qen s v AR gured A T o o @

T |
. fifiee $ gl 3§ suded oMl % T smmawerd T fafseat
£ | STl NETES & ARH-ATE W1 T e AT T G, | - 8

AYAT

P fafide 3 T 10 Y& % 1,00,000 I H T 190 3 & sfiftem w
fnffirg 0 ¥ TG SR fRg | TR T e e ST R T o

@ W . ¥ 39fd W
arEed W . 7 3vfy i (Hftrm afEa)
e AT W . T 39fd o

@l q SAf=w A W/ N W
1,60,000ﬁﬁ%ﬁqmaz?wa|mﬁmﬁaﬁﬁmmﬁmwz
@) 90,000 3iF % HATETH H . 40,000 37
Gi) 50,000 3 F SETH F ;40,000 3
20,000 31 F TR F : R AW
12 P.T.0.

(iii)

67/2

10
YEARS CBSE BUARD X” 10YearsQuestionPaper.com

QUESTION PAPER.COM



S _ . g A W37 ufy

o simar, Ry, Ry 1,500 siwi & fore AT . .
W@mm,ﬁmﬁa,mm@ﬁﬁm T P
fopa | |

s o= MU, g, fmy 1,800 I F
avﬁ(i)ﬁawﬁaa%ﬁ,ﬁmam;aﬁ@ﬂﬁ”a'a"'U&wg"“'”ﬁ

fomat | e
mﬂw%wmwmﬁmwammﬁﬁ ?791%{3?!!]‘@
yea qA:fArita T man .
‘d%ﬁ%@ﬁgmﬁﬁmﬁmﬁgﬁ@ﬁmlwm@
T ATEA a1 q™1 e -arEE @rar et | 8

% Ttd. invited applications for issuing 50,000 equity shares of 3 10 each.
The amount was payable as follows :

On Application - ¥ 2 per share
On Allotment . T 2 per share
On First Call . ¥ 3 per share
On Second and Final Call : Balance amount

Applications for 70,000 shares were received. Applications for 10,000
shares were rejected and the application money was refunded.

Shares were allotted to the remaining applicants on a pro-rata basis and
excess money received with applications was transferred towards sums
due on allotment and calls, if any.

Gopal, who applied for 600 shares, paid his entire share money with
application. Ghosh, who had applied for 6,000 shares, failed to pay the
allotment money and his shares were immediately forfeited. These
forfeited shares were re-issued to Sultan for ¥ 20,000; ¥ 4 per share paid
up. The first call money and the second and final cail money was called
and duly received.

- Pass necessary journal entries for the above tr i i ks of
: ansactions in the boo
X Ltd. Open Calls-in-Advance Account - unt
wherever necessary. and Calls-in-Arrears A%
- OR

A Ltd. invited applications for issuin '
: g 1,00,00 ata
premium of ¥ 1 per share. The amount was pa?,;gi:rae : fg fl‘lfw:‘.‘q each

811 Application T 3 per share

Un Allotment T3 g ; um)
On First Call %3 ﬁ:: :gare (including P>
On Second and Final Call ShE

Balance amOunt
14
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Applications for 1,60,000 shares were received. Allotment was made on
the following basis :

40,000 shares
40,000 shares

full shares

(1) To applicants for 90,000 shares
(1)  To applicants for 50,000 shares
(iii)  To applicants for 20,000 shares
Excess money paid on application is to be adjusted against the amount
due on allotment and calls.

Rishabh, a shareholder, who applied for 1,500 shares and belonged to
category (ii), did not pay allotment, first and second and final call money.

Another shareholder, Sudha, who applied for 1,800 shares and belonged
to category (i), did not pay the first and second and final call money.

All the shares of Rishabh and Sudha were forfeited and were
subsequently re-issued at ¥ 7 per share fully paid.

Pass the necessary journal entries in the books of A Ltd. Open
Calls-in-Arrears Account and Calls-in-Advance Account wherever

required.

17. w,mwmq&zwﬁ%m@méwzzzzléﬁmﬁm@rﬁaﬁ%
J | 319, 2017 F A Al g FrA wwp R A o .

31.3.2017 T G, WA AT 7 a1 Feafa ferawon
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g 2,00,000 e 2,20,000 |
wa 1,50,000 3.50,000 | Fam 70,000

AT 75,000 | ¥ih 50,000

> e 40,000 | TR ARG

31ed dad 35,000 | 5% 10,000

| SH-g1H @l 80,000

B TS 2N aimani
5,00,000 5,00,000
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@) I R aRgmiE Soraadt 1 FTAH F & 9 g
I T 'Waﬁwﬁéﬁ (fFg F BISH) F1 5% Fnfrry

ST R Ao 5 fyerest s oft g Hed @ |
i) HEFARRRN 6 wgeht fre s @ S -
(%)

e 85,000
&I 33,000
CE 47,000

(iii) ﬁaﬁﬁﬁmﬂ@%95%q{a¥gﬁ5ﬁﬂgl
Gv) ®H B 9E F wEum 78 fpu me < 7,500 F IFeT AU A A yam
EXCIRSCIN|

(v) ¥ W WA w7 15,000 % W faelt i TH SATHER @M o
A ST 9y |

(vi) foee =@ = 3,000 & frwen g g gra A T |

T T, WHER % §oft @ qen S @ dar A | 8
Jrgan

e, SIS T TS Ush B o TSER 9 9947 3 : 3 : 4 % 3T9Td J ATH-g1 sfed

9 | b W] Forw # F=fafaa 1 yaam o

() 9 W 5% 9fd 99 = |

(i)  SITEW G 12% 9fd 99 = |

(iii) @TSER o T W 6% Jid 99 =1 |

(iv) et 1 T 4,000 T Ia; FAT H AH-FN @@ gro vehiifd 1g @™
R 10% HHITH U1 TS 1 ekl Herg # ey 1o yraumEt F aqEieH
% 9g=rq. T 1,50,000 AH i TR |

IH wrf gft off, Wl ¥ 500,000 W ;¥ g 0,000 T T

¥ 4,00,000. 1 313, 2016 FI W A T B T 1,00,000 5 et {247 | W F

W AN @ ¥ 9d 31 HTE, 2017 Bl TG BN Ay gf 3 o o #1 U8

¥ T 3,06,000 AT | '

31 T, 2017ﬁW§Qa‘§%m‘ﬁFﬁ,iﬁmHmwﬂmﬁTﬁ

PRI wrar o a@igd & =CL @M &R BRI | o 5 sgyen 3 90 TE D

S A T 5,000, Well 3 IHF TR F o1 F ¢ 10,900 qon T T T

B: U F g 5 T 40,000 i & oy | ’ 8
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Stijén, Ra

losses in the rat

Man and Manan were partners in a firm sharing profits and
io of 2 : 2 : 1. On 315" March, 2017 their Balance Sheet

was as follows -

Balance Sheet of Srijan, Raman and Manan as on 31.3.2017

Liabilities Axn;unt Assets Am;unt
Capitals : Capital : Manan 10,000
Srijan 2,00,000 Plant 2,20,000
Raman  1,50,000 | 350 000 | Investments 70,000
Creditors 75,000 | Stock 50,000
Bills Payable 40,000 | Debtors 60,000
Outstanding Salary 35,000 | Bank 10,000
5,00,000 5,00,000

On the above date they decided to dissolve the firm.

(1) Srijan was appointed to realise the assets and discharge the
liabilities. Srijan was to receive 5% commission on sale of assets
(except cash) and was to bear all expenses of realisation.

(ii) Assets were realised as follows :

(%)
Plant 85,000
Stock 33,000
Debtors 47,000

‘ (iii) Investments were realised at 95% of the book value.

(iv) The firm had to pay ¥ 7,500 for an outstanding repair bill not
provided for earlier. |
(v) A contingent liability in respect of bills receivable, dlsf-counted with
the bank had also materialised and had to be discharged for
Z 15,000.
(vi) Expenses of realisation amounting to ¥ 3,000 were paid- by Srijan.
Prepare Realisation Account, Partners’ Capital Accounts and Bg.
Account.
OR
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Moli, Bhola anq Raj were partners in a firm sharing profits and losses i
the ratio 0f3: 3. 4 my i partnership deed provided for the following :

(1) Interest on capital @ 5% p.a.
(ii) Interest on drawing @ 12% p.a.

(iii) Interest on partnerg’ loan @ 6% p.a.

(iv) Moli was allowed an annual salary of ¥ 4,000; Bhola was allowed 5
commission of 10% of net profit as shown by Profit and Loss Account
and Raj was guaranteed a profit of T 1,50,000 after making all the
adjustments as provided in the partnership agreement.

Their fixed capitals were Moli : ¥ 5,00,000; Bhola : ¥ 8,00,000 and
Raj : ?= 4,00,000. On 15t April, 2016 Bhola extended a loan of ¥ 1,00,000
to the firm. The net profit of the firm for the year ended g1%¢ March, 2017
before interest on Bhola’s loan was £ 3,06,000.

Prepare Profit and Loss Appropriation Account of Moli, Bhola and Raj for
the year ended 315 March, 2017 and their Current Accounts assuming
that Bhola withdrew ¥ 5,000 at the end of each month, Moli withdrew
T 10,000 at the end of each quarter and Raj withdrew ¥ 40,000 at the

end of each half year.
| s g
(ot ferawott =t fargewor)
PART B

(Analysis of Financial Statements)

18. T foefly st gra W S A0 YR R T s’ w5y e YR
A Gy - nfafafy @ s 2 1

‘Interest received and paid’ is. considered as which type of activity by a
finance company while preparing a Cash Flow Statement ?

19. U JaTe foreor FR FT F N4F Rew 1 3w i | I

State the primary objective of preparing a Cagp Flow Statement.

67/2 18

YﬂE?I;S CBSE BU ARD X” 10YearsQuestionPaper.com

QUESTION PAPER.COM



20. 3. T, Rafide, we e, T R w W@ Rt | e R
TE F TH WM F wg § F X qnfio A gere 6 Tgew &1 O
forn | ymfevs e gfamn % Rt e § oy | Sfe nte 3 faored
H1 i Prafte 76 o, ora; we 3 Pl fRrn £ @ ot @ wer o el
&1 Fafo v smo | e S R @i seeus, eramr qen fgue seeus
A, T FRterm | off 78 aur A9 HHANE F GE iy 9 9% AG-IE F
& | ey ma

fadia faawott 6 At % gwg oot &A@ SHR @ T qu S 3 Q)
TEH & fore g @ uw srerh wie dwemr H ghe s |

TS AEHR g daw fre T Rk R # fraffea 78 w5 s ane
feu U g sfidei o su-sidst & swwta guian mn 2 St o vt sifafEm,

2013 1 SIS I g TR |
| 75 e AF /T

e AR IR 9T

3 W e Frew
FHIEE AFEAA T TemrRft aiaafaat

¥ 2 gedt H TeEH FRT Fed FEA wE H wefa wen wEd @) e
& Iwfer WG Bl HE sifufem, 2013 A HESN 111 % JHER €& g9
o] wd Ju-3deh! & T=TTd Tegd HIT | 4
JW Ltd. was a company manufacturing geysers. As a part of its long term
goal for expansion, the company decided to identify the opportunity in
rural areas. Initial plan was rolled out for Bhiwani village in Haryana.
Since the village did not have regular supply of electricity, t_:he company
decided to manufacture solar geysers. The core team consisting of the
Regional Manager, Accountant and the Marketing Manager was taken
from the Head Office and the remaining employees were selected from

the village and neighbourhood areas.

At the time of preparation of financial statements, the: accountant of the
company fell sick and the company deputed a JumOT accountant
temporarily from the village for two months.

8712 19 PTO.
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The Balance Sheet prepared by the junior accountant showed the

following items against the Major Heads and Sub-he?
were not s per Schedule 11 of the Companies Act, 2013
Major Head /Sub-Head

ds mentioned which

Item
Loose Tools Trade Receivables
Cheques in Hand Current Investments
Term Loan from Bank Other Long-term Liabilities

Computer Software Tangible Fixed Assets

Identify any two values that the company wants to communicate to the

society. Also present the above items under the correct major heads and

sub-heads as per Schedule III of the Companies Act, 2013.

21. Freafefiga gu @ $.3. fafis &1 amr omer feufa faawor dam Hifs

e | 31.3.2017 | 31.3.2016
I - 9HAT UE 39410 :
L. | sfmures ffe 8,00,000 | 4,00,000
> - 5,00,000 | 2,00,000
5| 3,00,000| 2,00,000
- 16,00,000 |  8,00,000
II - afawafmeat ;
1. | 3/9a yigeafaat |
| 10,00,000| 5,00,000
2. | = Tt
. 6,00,000 | 3,00,000
— ™ | 16,00,000| 8,00,000
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Pre .
. opare g Common size Balance Sheet of KJ Ltd. from the following

Informatiop -
R
_ Note | 31.3.2017 | 31.3.2016
P
| Tarticulars No. z T
I - Equity and Liabilities :
1. | Shareholder’s Funds 8,00,000 4,00,000
2. | Non-Current Liabilities 5,00,000 2,00,000
3. | Current Liabilities 3,00,000 2,00,000
| Total 16,00,000 8,00,000
II - Assets :
' 1. | Non-Current Assets 10,00,000 5,00,000
2. | Current Assets 6,00,000 3,00,000
Total 16,00,000 8,00,000
22, e fafiRs i gl @ wr FrafaRaa g=1 9 2015 - 16 91 2016 - 17
N1 & fofu ies 3nad 9@ 6l TUHT HIfT 4
2015 - 16 2016 — 17
T T
31 |Td I Tl (RIh) 7,00,000 17,00,000
g A A 50,00,000 75,00,000

(et @ SETEE | 3T T AT W 25% )
a§ 2015 — 16 T 391 (V) & T 2,00,000 H TG g |

From the following information obtained from the books of Kundan Ltd.,
calculate the inventory turnover ratio for the years 2015 - 16 and

2016 — 17 :
2015 — 16 2016 - 17
= >
Inventory on 31°° March 7,00,000 17,00,000
Revenue from operations 50,00,000 75,00,000

(Gross profit 18 25% on cost of revenue from operations)

In the year 2015 — 16, inventory increased by T 2,00,000.
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23. 3132017 % I =, fufigs & fy=fufee feafa faa@ 8 U yae fawr dam
$ifsu :
31.3.2017 =1 A aré. ferfiree = fearfar feram
e | 81.3.2017 | 31.3.2016
- . T T
I - §WAT U J8AT
1. | sroramd@t FAferay :
(31) 3= st 5,00,000 |  5,00,000
(9) 9= wg ey 1 1,00,000 |  (25,000)
2. | =S 4
HiEa iy 2 2,50,000 |  1,50,000
3 ﬂlﬁ\%ﬂ?ﬂﬁ -
(31) Tghref o 3 | 1,50,000| 1,00,000
(¥) AIHIAE JagH= ’ 4 2,00,000 | 1,25,000
S 12,00,000 | 8,50,000
II - gfamafRay :
1. | 3r=ret wftawafwat
(31) =Tt aftEratEt
(i) 7d 5 6,00,000 |  4,50,000
2 ma\trﬁ'a'mﬁa‘f |
(31) =i = 2,75,000 |  2,25,000
(F) b wd Ahg T 1,25000 | 75,000
(|) Agewrefa o T AW 2,00,000 |  1,00,000
0 | 12,00000| 850,000
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'@'I?ﬁaiqﬁzqz

:?3 o 31.3.2017 31.3.2016
: - L
1. | 9=a e e :
(it — @i faewo 1 2w) 1,00,000 (25,000)
1,00,000 (25,000)
2. | drdeRTeti ot
10% FOTqH 2,50,000 1,50,000
2,50,000 1,50,000
3. | TgehTeA A RO
d Afufasy 1,50,000 1,00,000
1,50,000 1,00,000
4. | AYHTA AU :
(i) TEaTfard SATHT 75,000 50,000
(ii) L TTE9 1,25,000 75,000
2,00,000 1,25,000
5. H\T'f ﬂﬁ'ﬂWﬁlﬂf :
o= 7,37,500 5,25,000
vt (df) Teas (1,37,500) (75,000)
. 6,00,000 4,50,000

Sifafs a7 :

31.3.2017 %1 T 1,00,000, 10% orgst @1 frtaa foham T |
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st
From the following Balance Sheet of JY Ltd. a8 ak 2

prepare a Cash Flow Statement :

Balance Sheet of JY Ltd. as at 31.3.2017

March 2017,

Note | 31.3.2017 | 31.3.2016 |
Particulars No. T T ]
I - Equity and Liabilities :
1. | Shareholder’s Funds :
(a) Share Capital 5,00,000 5,00,000
(b) Reserves and Surplus 1 1,00,000 (25,000)
2. | Non-Current Liabilities :
Long-term Borrowings 2 2,50,000 1,50,000
3. | Current Liabilities :
(a) Short-term Borrowings 3 1,50,000 1,00,000
(b) Short-term Provisions 4 - 2,00,000 1,25,000
Total 12,00,000 8,50,000
IT - Assets :
1. | Non-Current Assets :
(a) Fixed Assets:
(i) Tangible 5 6,00,000 4,50,000
2. | Current Assets :
(a) Trade Receivables 2,75,000 |  2,25,000
(k) Cash and Cash Equivalents 1,25,000 75,000
(¢) Short-term Loans and Advances 2,00,000 1,00,000
Total [T o
| Te o | 12,00,000 8,50,000
67/2 4
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Notes to Accounts :

]

Note 1.3.2017 | 31.3.2016
No. | Particulars 3 '3'? '3%
1. mSurplus .
(Surplus, i.e., Balance in the
Statement of Profit and Loss) 1,00,000 | (25,000)
1,00,800 | (25,000)
2. | Long-term Borrowings :
10% Debentures 2,50,000 | 1,50,000
2,50£00 1,50,000
3. Short-term Borrowings :
Bank Overdraft 1,50,000 | 1,00,000
1,50,000 | 1,00,000
4. Short-term Provisions:
(i) Proposed Dividend 75,000 50,000
(ii) Provision for Tax 1,25,000 75,000
2,00,000 | 1,25,000
5. Tangible Assets :
Machinery 7,37,500 | 5,25,000
Accumulated Depreciation (1,37,500) | (75,000)
6,00,000 | 4,50,000

Additional Information :

¥ 1,00,000, 10% debentures were issued on 31.3.2017.

6712 | 25 PT.O.

by CBSE BOARD )i

YEARS 10YearsQuestionPaper.com

QUESTION PAPER.COM



(arfermfer= i)
PART B -
(Computerised Accounting

) aaesq | 1
18. ‘Hufed au1 ‘Sg= farsryar & 21 T 3alzaniz( of ‘stored’ and ‘derived’

Give an example to explain the m
attribute. !

19, HRRE F1 IR G v SRt dEo
27

How does the usage of computer sharpen
enhance the profitability of a business ?

20. HEEiha S@ieA o 1 =R Hmd R 4

ystem.

o STEET S AT HY e

the competitive edge and

Give four limitations of computerised accounting s

21. 3@ WEd F AW SR S iiepel Y IR F Gen & | I IRfEafet
f Jeorg HIRT F& T Yol F I HI ATEwERAT & Fhdl 8 | 4

Name the value which represents absence of data. Also state the
situations which may require the use of these values.

22, SEHeIY SIEH qAT T SUCH H F<1Hg HIf | 4

Differentiate between desktop database and server database.

23. T, fafive & TR — FTE w1 TR # S deren .
g R wET T 5,000 R 91 FIEE F 74,000 3 |q§‘ﬂ§§§?ﬁlj‘:§§3
I W g F A B
7o a4 1 15% IR A I = 15,000 % %5 § |
uer 39 T 10% I 4@ I = 15,000 & arfers ¢
mﬁq}ﬁm@q‘@ﬁﬁSO‘ﬁqﬁ%I |

@ ot wRw, S IS § FR@ R,
éﬂﬂmﬂm%mmm{;a;fm | it wRyr 3 3 RA o

G) o wm, S TE § w5 ¥ 25,000 ® |
T 14,0002 | “"“%naﬁmm:@w
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